## कार्यालय जोधपुर नगर निगम - दक्षिण

कमांक:-/विकास/तृतीय/ दक्षिण/2022-23/623

Patron-19/9/2012

### ः ई-निविदा सूचना ः

( यू.बी. संख्या DLB2223WSOB16234 )

नगर निगम दक्षिण जोधपुर की और से निम्नलिखित कार्यों हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / रवायतशाषी / निगमों / बोर्डो / राजकीय उपक्रमों में पंजीकृत ए.०ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर में निर्धारित श्रेणी में पंजीकृत नियमानुसार योग्य संवेदको से निर्धारित प्रपत्र में ई—निविदाएं आमंत्रित की जाती है।

### महत्वपूर्ण दिनांकों का विवरण

विवरण	दिनांक
ऑन लाईन निविदा फार्म जमा कराना प्रारम्भ होने की दिनांक व समय	30.9.2022/12.30 84
	10.10.2022/12.30 PM
ऑन लाईन निविदा खोलने की तारीख	/3 · a PM
निविदा शुल्क / घरोहर राशि की मूल प्रति अधीक्षण अभियन्ता कार्यालय में जमा कराने की दिनांक व समयावधि	/2. D PM

कं. स.	कार्य का नाम	अनुमानित लागत (राशि लाखों में)	धरोहर राशि	निविदा शुल्क	कार्य पूर्ण करने की अवधि
1	Constuction of Hall near Mahila snan ghar In ward 71 of NNJS	19.50	39,000/-	500/-	4 माह
2	Nala Strengthning work at prthvipura rasala road in Ward 73	23.16	46,320/-	500/-	4 माह
3	Construction of BT road work at various places in Ward 74 of NNJS	20.00	40,000/-	500/-	4 माह
4	Construction of CC road work at various places in Ward 75 of NNJS	20.00	40,000/-	500/-	4 माह
5	Construction of CC road work at Shakti nagar gali No. 5 in Ward 76 of NNJS	20.00	40,000/-	500/-	4 माह
6	Construction of BT road work at various places in Ward 77 of NNJS	20.00	40,000/-	500/-	4 माह
7	Restoration of road work at various places in Ward 78 in NNJS	10.00	20,000/-	500/-	4 माह
8	Development work at park situated at rajendra Nagar in Ward 79 NNJS	18.10	36,200/-	500/-	4 माह
9	Development work at situated at KH NO. 163 in Ward 79 of NNJS	12.22	24,440/-	500/-	4 माह
10	Constuction of CC road work at various places in Ward No. 80 of NNJS	10.00	20,000/-	500/-	4 माह

-			and the second s	mailtand very open per a margarity in	and and a design to the property of the street
	CC road repair near nala from chunaram ji Choudhary to RTO	4,95	9900/-	500/-	्र माप्त
-	Loffice in Ward No. 77	State was in the Contraction	and the second second second	Name and Asia Company	was a construct a morning of the world

### निविदा की महत्वपूर्ण शर्ते निग्नानुसार है :-

1. निविदा प्रपन्नों को वेबसाईट http://eproc.rnjasthan.gov.in से जारानलोंड किया जा सकता है। ब्रुम निविदाओं भे भाग लेने वाले संवेदकों को निविदा को इलेक्ट्रोनिक करियोट में वैबसाईट http://eproc.rajasthan.gov.in पर जमा करामी होगी।

2. निविदा की प्रक्रिया ऑन लाईन होगी।

3. निविदा हेतु पात्र संवेदको की श्रेणी -

किसी भी सीमा तक - एए भेंगी, रांगेवक रूपये 300.00 लाख तक - ए. भेंगी शंवेदक रूपये 150.00 लाख तक - बी. भेंगी शंवेदक रूपये 50.00 लाख तक - सी. भेंगी शंवेदक रूपये 15.00 लाख तक - डी. श्रेणी शंवेदक

4. निविदा खोलने की तिथि को किसी फारणवंश यदि सम्पूर्ण निविदायें नहीं खोली जा सकती है, तौ उसकें अगले कार्य दिवस को शेष निविदायें खोलने का कार्य जारी रखा जायेगा। निविदा प्रकिया —

कार्य

पोटेशियल असेसमेंट 150 लाख से 500 लाख तक पोस्ट क्वालीफ़िकेशन 500 लाख से अधिक तक 200 लाख से अधिक तक

सडक अन्य निर्माण कार्य

100 लाख से 200 लाख तक

क्रं.सं.	शुल्क वितरण	शुल्क	भुगतान का प्रकार	देय
1	निविदा शुल्क	उपरोक्तानुसार	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	आयुक्त जोधपुर नगर निगम दक्षिण
2	धरोहर राशि	उपरोक्तानुसार	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	आयुक्त जोधपुर नगर निगम दक्षिण
3	ई–टेण्डरिंग प्रकिया शुल्क	50 लाख एव उपर 1000/— 50 लाख से नीचे 500/—	डिमाण्ड ड्रॉपट/ बैंकर चैक	MD RISL, JAIPUR

- 5. निविदादाता द्वारा निविदा शुल्क, धरोहर राशि एवं प्रकिया शुल्क हेतु निम्नलिखित राशि कि मूल प्रति जोधपुर नगर निगम कार्यालय में नियमानुसार निविदा खोले जाने के समय से पूर्व जमा करवाना आवश्यक है। निम्नलिखित डिमांड/बैंकर चैक शुल्क ऑनलाईन निविदा फार्म जमाने की अन्तिम तिथि से पूर्व का होना आवश्यक है।
- 6. प्रदत दरें निविदा खोलने की दिनांक से 90 दिवसों तक निविदा स्वीकृति हेतु मान्य (Vaild) रहेगी। यदि निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तो में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा वापस ले लेता है, तो उसकी धरोहर राशि जब्त कर ली जावेगी।
- 7. यदि संवेदक के नजदीकी रिश्तेदार (प्रथम रक्त सम्बन्धी व उनके पति/पत्नी) कार्य से संबंधित अधीनस्थ कार्यालय में खण्डीय लेखाकार अथवा सहायक अभियन्ता से लेकर अधीक्षण अभियन्ता स्तर का किसी भी स्तर पर पदस्थापित हो, तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।
- 8. राज्य सरकार में किसी भी अभियांत्रिकी विभाग में किसी भी इंजीनियर अथवा इंजीनियर या प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य की अनुमित के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेंगे। यदि संवेदक अथवा उसके कर्मचारियों मे कोई ऐसा व्यक्ति जिसने राज्य सरकार की उक्त लिखित अनुमित निविदा जमा कराने से पहले अथवा संवेदक के यहां से सेवायें लेने से पहले अनुमित नहीं ली है, तो अनुबन्ध रदद किया जा सकेगा।
- 9. उक्त आईटम की दोष निवारण अवधि 3 वर्ष होगी।
- 10. निविदा में निविदादाताओं से अंतर राशि परफोरमेन्स सिवयूरिटी के रूप में प्राप्त करने के पश्चात है। स्वीकृति निविदा का कार्यादेश दिया जायेगा।

- 11. किसी भी निविद्या को स्वीवगर करने एवं बिना कारण बताये निरस्त करने के समझा अधिकार निरुद्धस्ताक्षर कर्ता को एहेगा। RPWA 100 की समस्त शर्त अस शीमा तक मान्य / सागु होगी जिस गीमा तंक के राजस्थान लोक उपापन पारदर्शिता अधिनियम 2012 एवं नियम 2013 के विशेष में नहीं हो।
- 12 वित्त विभाग के आदेश संख्या एफ-(1)एफ.डी./जी.एक. एण्ड ए.आर./2001 दिनांक 20.00.11 (संबुंतर में 19/2011) के अनुसार 50.00 लाख रूपये तक की राशि के कार्यों के लिए 500/- य 50.00 लाख रूपये में अधिक राशि के कार्यों के लिए 1000/- रूपये की राशि निविदा शुक्क के अतिरिक्त देनी होंगी जो डिमाण्ड आपट या बैंकर चैक के रूप में देय होगी। यह डिमाण्ड ड्राफ्ट या बैंकर चैक मैनजिंग डायरेक्ट, आर.आई.एस. एल. के पक्ष में व जयपुर में मुगतान योग्य होना चाहिए।
- 13. नेगोशिएशन की आवश्यकता होने पर ई-मेल व पत्र द्वारा डाक से सूचित किया जायेगा।
- 14. ई-टेण्डरिंग के लिए निविदादाता हेतु निर्देश :-
  - इन निविदाओं में दिलचस्पी लेने वाले निविदा दाता निविदा प्रपत्रो का इन्टरनेट साईट http://www.eproc.rajasthan.gov.in से देख/डाउनलोड कर सकते हैं।
  - निविदाओं में भाग लेने वाले निविदादाताओं को इन्टरनेट साईट http://www.eproc.rajasthan.gov.in पर रिजस्टर करवाना होगा। ऑन लाईन निविदा में भाग लेने के लिए डिजिटल सार्टिफिकेट है इनफोरमेशन टेक्नोलॉजी एक्ट 2000 के तहत प्राप्त करना होगा जो इलेक्ट्रोनिक निविदा में साईन करने हेतु काम आयेगा। निविदादाता उपरोक्त डिजिटल सर्टिफिकेट सी.सी.ए. द्वारा स्वीकृत एजेन्सी से प्राप्त कर सकते है। जिन निविदादाताओं के पास पूर्व में वैध डिजिटल सर्टिफिकेट है, नया डिजिटल लेने की आवश्यकता नहीं है।
  - निविदादाताओं को निविदा प्रपत्र इलेक्ट्रोनिक फार्मेट में उपरोक्त वेबसाइट पर डिजिटल साईन के साथ
     प्रस्तुत करना होगा। जिसके प्रस्ताव अकेले भौतिक फॉर्म में स्वीकार्य नहीं होगा।
  - इलेक्ट्रोनिक निविदा प्रपत्रों को जमा कराने से पूर्व निविदादाता यह सुनिश्चित कर लेवे की निविदा
    प्रपत्रों से संबंधित सभी आवश्यक दस्तावेजों की स्केन कॉपी निविदा प्रपत्रों के साथ अटेच कर दी गयी
    है।
  - कोई भी टेण्डर इलेक्ट्रोनिकली जमा कराने से किसी कारण से लेट हो जाता है तो उसका जिम्मेदार विभाग नहीं होगा।
  - टेण्डर के प्रपत्रो में आवश्यक सभी सूचियों को सम्पूर्ण रूप से भरकर ऑन लाईन दर्ज करे।
- 15. निविदायें राजस्थान लोक उपापन पारदर्शिता अधिनियम 2012 एवं नियम 2013 के अन्तर्गत आमंत्रित की जाती है। उपर अंकित समस्त प्रावधान/बंधन उस सीमा तक ही लागु होंगे जिस सीमा तक दे उस बिन्दु में उल्लेखित अधिनियम एवं नियमों के विरुद्ध नहीं हो।
- 16. आयुक्त नगर निगम जोधपुर के आदेश कमांक 9836 दिनांक 07.02.2020 एंव 9975 दिनांक 14.07.2020 के अनुसार पंजीयन रिव्यू आदेश के तहत निविदा स्वीकार/अस्वीकार की जायेगी।
- 17. राजकीय अवकाश की स्थिति में अगले कार्य दिवस की तिथी मानी जायेगी।
- 18. श्रीमान् निदेशक, स्वायत्त शासन विभाग राजस्थान जयपुर के आदेश कमाक 144612-825 दिनांक 22.11.2021 की पालना में वित्त विभाग की अधिसूचना दिनांक 22.10.2021 अनुसार आर.टी.पी.पी. नियम 2013 में Additional Performance Security के लिए नियम 75 -ए के अनुसार Additional Performance Security जमा करवानी होगी।

्री (अरूण कुमार पुरोहित)
I.A.S.
आयुक्त
जोधपुर नगर निगम दक्षिण

## जोधपुर नगर निगम, जोधपुर-दक्षिण

कमांक:-/विकास/तृतीय/ दक्षिण/2022-23/6 23

विनाक:- 13/9/2022

ः ई-निविवा सूचना ः

16	·n	संख्या
1 8	41.	11 (541

नगर निगम दक्षिण जोधपुर की और से विकास कार्य हेतु ऑनलाईन निविदा आमंत्रित की जाती है, कार्यो की विस्तृत जानकारी एवं शर्तो इत्यादि वेबसाईट http://eproc.rajasthan.gov.in, sppp.raj.gov.in पर व जोधपुर नगर निगम दक्षिण की वेबसाईट urban.rajasthan.gov.in/mcjs देखी जा सकती है।

(सुश्री वनिता सेठ) महापौर जोधपुर नगर निगम—दक्षिण (अरूण कुमार पुरोहित) I.A.S. आयुक्त जोधपुर नगर निगम—दक्षिण

कमांक:- 624 to 631

दिनांक:- 19 | 9 | 2-22

प्रतिलिपि :- सूचनार्थ एवं आवश्यक कार्यवाही हेतु।

1. श्रीमान जिला कलेक्टर महोदय, जोधपुर।

2. निदेशक / अधीक्षण अभियन्ता, स्थानीय निकाय विभाग, जयपूर।

3. अधीक्षण अभियन्ता / अधिशाषी अभियन्ता, सा.नि.वि. / जोधपुर विकास प्राधिकरण जोधपुर।

4. वरिष्ठ लेखाधिकारी, जोधपुर नगर निगम दक्षिण।

5. राजस्थान संवाद, जयपुर को भेजकर लेख है कि निविदा सूचना एक राज्य स्तरीय एवं एक क्षेत्रीय स्तरीय समाचार पत्र में प्रकाशन हेतु भिजवाये एवंम् समाचार पत्र के नाम बाबत् ईन्टीमेशन मेल नगर निगम जोधपुर दक्षिण को भिजवाये।

6. श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोधपुर दक्षिण को भेजकर लेख है कि ई—निविदा सूचना urban.rajasthan.gov.in/mcjs एवं sppp.rajasthan.gov.in, पर अपलोड़ करें एवम् निविदा सूचना प्रकाशन

हेतु राजस्थान संवाद जयपुर को मेल के माध्यम से भिजवायें।

7. सहायक अभियन्ता को भेजकर लेख है कि कार्यो की जी-सारणी एवं ई-निविदा सूचना http://eproc.rajasthan.gov.in पर अपलोड करे।

सूचना पट्ट जोधपुर नगर निगम दक्षिण।

आयुक्त जोधपुर नगर निगम –दक्षिण

### G-SCHEDULE

 9.4	2.00

Date

Cr No

Last Date of Sale

Earnest Money : Rs

Date of Receipt :-

CR No. \_\_\_\_ Dated.

Copy issued to M/s

RUIDP BSR 2022& PWD BSR 2019

S.No.	Item	Qty	Unit	Rate	Ammount
1	Dismantling Stone MasonryRubble stone masonry in cement mortar.	34.2	Cum	357.5	12226.5
2	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				
2.1	lime Concrete, cement concrete grade M-10 (1:5:10) and below (Sewer)	9	Cum	365	3285
2	Cement Concrete Grade M-15 and above and PCC blocks. ( Sewer)	9	Cum	620	5580
3	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In hard rock (Blasting prohibited) Depth upto 1.5 m In all types soils/ saturated soil such as moorum, sand, sandy silt, clay, black cotton soil, kankar, etc	90	cum	210.50	18945.00
4	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).		Cum	4340.00	117180.00
5	Random rubble masonry with hard stone in foundation and plinth :Cement mortar 1:6 (1 cement : 6 coarse sand)	61.2	Cum	4245.00	259794.00
	Extra for random rubble masonry with hard stone in superstructure above plinth level and upto two stories , wall	72.16	Cum.	5134.00	370469.44
_ 1	Extra for coursed rubble masonry with hard stone (first or second sort) in superstructure above plinth level and upto two stories.	72.16	Cum.	889.00	64150.24
0 1	Extra for random rubble masonry with hard stone in Square or rectangular pillars	3.95	Cum.	660.00	2607.00
9	Half brick masonry with FPS bricks of class designation 75 in superstructure above plinth level upto two stories Cement mortar 1:4 (1 cement :4 coarse sand)	30.00	Sqm.	704.00	21120.00
10	Centring and shuttering with plywood or steel sheet upto two stories or height upto 7.5 metre above plinth level including strutting, propping etc. and removal of form for: Foundations, tootings, bases of columns, etc. for mass concrete	12.00	sqm	220.00	2640.00
11	suspended floors, roofs, landings, balconies and access platform.  with water proof ply 12mm thick.	126.00	sqm	421.00	53046.00
12 f	Providing and laying in position specified grade of reinforced tement concrete excluding the cost of centring, shuttering, inishing and reinforcement - All work upto plinth level: 1:1½:3 (1 tement: 1½ coarse sand: 3 graded stone aggregate 20 mm teminal size)	2.7	Cum.	6200.00	16740.00
L3 fi	teinforced cement concrete work in beams, suspended floors, oofs having slope upto 15° landings, balconies, shelves, chajjas, intels, bands, plain window sills, staircases and spiral stair cases into two stories excluding the cost of centring, shuttering, inishing and reinforcement: M-20 Grade Concrete (1:1½:3 (1 ement: 1½ coarse sand: 3 graded stone aggregate 20 mm ominal size) -As per design mix)	20.7	cum	7030.00	145521.00
	einforcement for R.C.C. work at all levels including straightening, utting, bending, placing in position and binding all complete. Hot 'ed deformed bars	2000.00	Kg	64.20	128400.00

15	P & F 18 pag M.S. Recessed for box, hasogonal/round of size 150 mm disc depth Plasm. L3 and day not for hose with 1500 mm length extended on each side. All 20 pm pro approved to Engineer in charge for additional technical parameters of products/work refer Annasure "A" attached with this 858.		69(3)	\$4.00	783 00
16	S&F following sizes (dia.) of (5) marked MMS ( (6)05)? P = (0) verific material PV( conduct as per Pid() specification for electrical Works along with its accessive (6, 34)9 ) or required in recipital including carting the wall covering conduct and making good the same as required. All relative and latest acceptance tests reported by any NASI, accredited late for the conduct shall be submitted before execution & All as per pre-approved by Engineer in charge for additional technical parameters of producted work , refer Annexure.  'A' attached with this BSR MMS ( (5)9537 P - (0) ) FVC conduct 25 mm.	45.00	rest	17 (9)	1000 00
17	Cement plastering including TBF, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 12 mm cement plaster of mix. 1.6 (1 cement : 6 fine) coarse sand).	380.00	Sopre	192.60	69120.00
19	Pointing on stone work with cement mortar 1:3 (1 cement : 3 fine sand). Flush/Ruled pointing	160.00	sqm	205.00	32800.00
20	Raised and cut pointing on stone work in white cement mortar 1:3 (1 white cement , 3 marble dust)	160.00	sam	398.00	63680,00
21	Providing and fixing Marble stone flooring table rubbed, 15-18 mm thick over 20mm (Av.) thick base of CM 1:4 (1 cement : 4 coarse sand) or slab in wal, steps, pillars, counters, jambs, shelves, sills etc laid over 12mm (Av.) thick base of CM 1:3 (1 cement : 3 coarse sand), jointing with white cement mortar 1:2 (1 white cement : 2 marble dust) with pigment to match the shade of the marble slab including grinding, rubbing and polishing complete. Rajnagar 1st quality/Agería with light spots.Upto to 1500 Cm2	100.00	Sqm	1581.00	158100.00
22	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	15	cum	5360.00	80400.00
23	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece.	18.72	Sqm.	3565.00	66736.80
	Providing and fixing GI wire gauge of average width of aperture 1.56mm with wire of 0.45mm to existing steel door, window shutter frames with necessary M.S. strip beading 20x3mm with suitable screw at not exceeding 150mm distance etc. complete	1.44	sqm	595.00	856.80
	Providing & Fixing in position, MS fabrication work using angles, sqr tubes, c channels etc for various partition frame as per Design & Instructions & Complete in all aspects . including all materials labour, finishing etc complete	200.00	kg	88.10	17620.00
26	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	500	Kg	117.50	58750.00
27	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade New work (two or more coats) over and including priming coat with cement primer.	160.00	Sqm	125.00	20000.00
28	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm).	160.00	Sqm	85.40	13664.00
29	Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/ 10 sqm of approved brand or manufacture	160.00	Sqm	115.00	18400.00
30	Supplying and fixing Soorsagar Bhura or Equivalent ashlar sills, lintels and dassa, bearing, bed & top surface made perfenctly even, jambs, skirting steps etc. rough dressed: Above 15 cm. and unto 20 cm. thick	2.28	Cum	4475.00	10203.00

9.1	According to the pay of the property of the pay of the	100 00	Ego	583 SP	\$67.08.3 (m)
32	in all resources. Washing with mild.  Preventing travering bring in tremities, aligning fixing in position and activities accepted incident probabilities in market large property of the control with which align ring probabilities for excitatio values with which are property acceptable for excitation with with a section of a control of the c	20.8	enantie	800. Šiā	ALERE CHE
33	Earth filling with available surplus self-excavated from foundations and taken only from outside of building plinth in layers not exceeding. 20cm in depth, consolidating each deposited layer including ramming and watering and consolidation with lead up to 50 m and lift upto 1.5 m.	120	(en	\$44.00	(7) <b>4</b> 6(N)
34	Wiring of light point/ fan point/ exhaust fan point/ call bellpoint with 1.5 sq. mm FR PVC insulated unsheathedflexible copper conductor 1.1 kV grade and 1.5 sq.mmFR PVC insulated unsheathed flexible copper earthconductor 1.1 kV grade (iS-694) of approved make insurface / recessed iSi marked medium duty PVCconduit & it's accessories, round tiles.18 SWG M S. boxwith earth terminal, screwless cage connectors forneutral looping in switch board & false ceiling point 6. Aswitch, 3.0 mm thick phenolic laminated sheet, zincplated / brass screws, cup washers, making connections, testing etc. as required. (A) Short point (up.	20 00	Paint	183.00	3000.00
34.1	(b) Medium point (upto 6 mtr.)	20.00	Point	299.00	5000.00
34.2		10.00	Point	400.00	4000.00
35	Wiring of 3 pin 5 amp. light plug point with 1.5 sq. mm FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq.mm FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS.694) of approved make in surface / recessed ISI marked medium duty PVC condult & it's accessories, 18 SWG M.S. box with earth terminal, screwless cage connectors for neutral looping in switch board & false ceiling point, 6 A switch, 6 A socket, 3.0 mm thick phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing	5.00	Point	89.00	445.00
<b>3</b> 6	P & F double ball bearing capacitor start ceiling fan of approved make complete with regulator and other accessories as required. (for estimation purpose only) 1200 mm sweep	5.00	Each	1481.00	7405.00
37	P&F 240/41S V MCB of breaking capacity not less than 10 KA (B/C/D tripping characteristic) ISI marked IS 8828(1996)]/conforming to IEC 60898 in existing board/sheets including making connections with lugs, testing etc. as required. Single pole MCB 6 A to 32 A rating	2.00	Nos.	161.00	322.00
38	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint)/(extruded non corrosive UV resist EP channel) complete with accessories like (OCCB, starter, starter seat)/EB, rotor holder, terminal block duly prewired with copper conductor including making connection, testing etc. as required. ( without tube 1 X 36 Watts with FB	8.00	Each	287.00	2296.00
	P & F surface/recessed type 10 mm thick Teak wood board duly	8.00	Each	36.00	288.00
39	antitermite treated, varnished and fixed by using guttles/ PVC fasteners of following size as required 250 mm x 300 mm	0.00	= =		
39 40		142.20	cum	231.48	32916.46

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।

कार्य करने से पूर्व एवं कार्य करने के पश्चात कार्य स्थाल की फोटो / विडियोगाफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।

 दोष निवारण अवधि नियमानुसार रहेगी।

 स्कार्त निविदा स्वीकार नहीं होगी।

 EXECUTIVE ENGINEER

NAGAR NIGAM SOUTH JODHPUR

LWe hereby agree to do the above work @ \_\_\_\_\_\_\_ Above/below the "G" Schedule.

(Signature of Contractor)

## OFFICE OF THE MUNICIPAL CORPORATION, JODHPUR (SOUTH) 0-SCHEDULE

NIT NO

Cate

So NA

Last Date of State

Carrier Athiney He

Date of Receipt

th No. . . . balad ....

Copy Issued to M's

mand on Athlet and Angel

### Name of work- Nala strengthning work at prthylpura rasala road in ward no 73

S.No.	Item	aty	Unit	Rate In Rs.	Amount
1	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.Lime Concrete, cement concrete grade M-10 (1:5:10) and below	56.00	cum	365.00	20440.00
2	Cement Concrete Grade M-15 and above and PCC blocks	56.00	cum	620.00	34720.00
3	Dismantling Stone Masonry Rubble stone masonry in cement mortar.	121.60	cum	357.50	43472.00
4	Silt clearance of drains, channels and canals with lift 1.5 Mtr and lead up to 50 Mtr.	108.00	cum	348.50	37638.00
5	Sludge clearance of drains, channels and canals with lift 1.5 Mtr and lead up to 50 Mtr.	72.00	cum	372.50	26820.00
6	Random rubble masonry with hard stone in foundation and plinth: Cement mortar 1:6 (1 cement: 6 coarse sand)	180.00	cum	4245.00	764100.00
7	Extra for random rubble masonry with hard stone in superstructure above plinth level and upto two stories.	9.00	cum	5135.00	46215.00
8	Cernent . S into dans) tars	40.00	sqm	380.00	15200.00
9	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:4 (1 cement: 4 fine/ coarse sand)	400.00	sqm	283.50	113400.00
10	Providing and fixing of reinforced Ferro-Cement drain covers designed for 'AA' class loading duly marked on cover with adequate steel reinforcement having thickness 75mm to 150mm anti corrosive bitumen painted M.S. plate, Rim and M.S. lifting hooks, Admixtures like plasticizer, bond improving compound, shrinkage, resistance compound, abrasion resistant complete as per approved design etc.Standard Size 2100x500mm (150mm thick) for span 1201 to 1500mm	168.00	Sqm	3725.00	625800.00

11	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer. Note: E/w to be measured and paid separately, 160 mm dia		metre	617,00	13265.50
12	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level :1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	48.00	cum	4340.00	208320.00
13	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm nominal size stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 75mm thick sqm	280.00	sqm	721.00	201880.00
14	Carriage of Materials by mechanical transport including loading, unloading and stacking ::Earth. Upto 5 km	413.60	Cum	246.00	101745.60
15	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.  In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	1000.00	kg	117.50	117500.00
	Total				2315356.10

- 1. समी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

G-SCHEDULE

THA	Ala

Sr No.

Last Date of Sale :-

Earnest Money : Rs.

Date of Receipt :-Copy Issued to M/s

CR No. Deted.

Name of Work- Construction of BT road work at various Places in Ward No. 74 of nnjs

1	Item			RUIDP SC	R 2021
		Qty.	Unit	Unit	Unit
	Dismantling of flexible pavements and disposal of dismantled materials up to a lead of 50 metres as directed by Engineer.Bituminous courses				-
	. Lighteet Bituminous courses	2.40.5		·	
1.1	Granular courses	140.0		411.00	57540.0
	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and accordance.	300.0	cum	286.50	85950.0
2	accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lood unto 1999.		1		
_	of surplus material with all lift and lead upto 1000 metre as per MoRT&H		1	1	
_	specification clause 301. In all type of soil	600 00			
3	Camage of Materials by mechanical transport including leading to	600.00	Cum	214.50	128700.0
	stacking: 5 km				19.1
4	Providing Indian areas	1040.00	cum	245.05	1 38 4
1	Providing, laying, spreading (with paver finisher only) and	1040.00	- Cum	245.95	255788.0
	Toompacting wet this macadam (WMM) base course assertion		l		C. N. C.
			1	and the second	
	I ADIA AND AND AND AND AND AND AND AND AND AN		The w		
			2		
			I Indian		
				St. I market	The state of the state of
	morrison specification clause - 406 including all material lab.				
	machinery, lighting, guarding and maintenance of diversion.			1	
5	Providing and applying primer coat even	328.50	sqm	1704.00	559764.0
	Providing and applying primer coat over prepared surface of granular base with				2007.04.0
	bitumen emulsion as per IS: 8887 and approved quality @ 0.6 kg/sqm with the			1	
				1	
1					
				1	
	clause 502 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.			1 1	
	and maintenance of diversion.	1		1 1	
		2000.00			
6	Providing and applying tack coat on the prepared surface with bitumen emulsion	2000.00	sqm	27.70	55400.00
	and approved quality (a) 1) 2 kg/sgm with the help of any of	1		1	
		1			
	and midify dustriff with Oil dilling hade and compressed at the				
	The state of the s				
- 1	madeling all material, labour, machinery, lighting, guarding and maintenance of				
	217 (13101).	2000.00			
	Providing and laying bituminous macadam in 50/75 mm compacted thickness on	2000.00	cum	9.90	19800.00
- 1	propored surface with specified draded critished stone aggregates as a Title				
- 1	obbing in tot base, binding course loading of aggregate with E.E. land -	1			
- 1	reading and mixing of stone addregate and bitumen in computational bot mix at a 1	- 1			
- 1	anisported to site by uppers to paver, laid over a previously prepared surface with	i			
	paver initiaties littled with electronic sensing device to the required grade level and	- 1			
,,	any intent and folling with power roller and vibratory compactor on per element				
١,	to achieve the desired compaction complete as not close so all				
''	work fair specification and including all material labour machines, lighting I				
18	positing and maintenance of diversion but excluding cost of primary took again their		- 1		
ا	Bitumen VG-grade 30 @ 3.3% (percentage by weight of total mix)		- 1		
			۱ '		
		100.00	sqm	5380.00	538000.00
F	Providing and laying open graded premix carnet 20mm thick (compacted)				
11	Providing and laying open graded premix carpet 20mm thick (compacted), on prepared surface in a single course as wearing course composed of experience.				
9	raded crushed stone aggregate as per Table 500.23, premixed with bitualization				
9	repaired surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous inder @ 14.60 kg/ 10sgm (including cost of anti-stripping company)				
9	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous inder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.F. loader, but mixing educations of the stripping compound wherever				
g b n	repared surface in a single course as wearing course, composed of specified graded crushed stone aggregate as per Table 500-23, premixed with bituminous sinder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone aggregate and bitumen in computerised hot mix plant tracepording the				
g b n a	repared surface in a single course as wearing course, composed of specified irraded crushed stone aggregate as per Table 500-23, premixed with bituminous planter @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed material by tippers to payer and laying with payer finisher fitted with a text of the course				
n a n s	repared surface in a single course as wearing course, composed of specified irraded crushed stone aggregate as per Table 500-23, premixed with bituminous prinder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed material by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade compacting smooth wheelectronic				
t n a n s	repared surface in a single course as wearing course, composed of specified irraded crushed stone aggregate as per Table 500-23, premixed with bituminous prinder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired the state of the s				
n a n s 1	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous sinder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired density as er clause 511 of MoRT&H specification including all material between the second control of the control of the second control of the secon				
n a n s 1	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous inder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired density as er clause 511 of MoRT&H specification including all material, labour, machinery, ghting, guarding and maintenance of diversion but excluding and maintenance of diversion but excluding				
n a n s 1	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous inder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired density as er clause 511 of MoRT&H specification including all material, labour, machinery, ghting, guarding and maintenance of diversion but excluding and maintenance of diversion but excluding				
n a n s 1	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous sinder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired density as er clause 511 of MoRT&H specification including all material between the second control of the control of the second control of the secon				
n a n s 1	repared surface in a single course as wearing course, composed of specified readed crushed stone aggregate as per Table 500-23, premixed with bituminous inder @ 14.60 kg/ 10sqm (including cost of anti- stripping compound wherever equired), including loading of material with F.E. loader, hot mixing of stone ggregate and bitumen in computerised hot mix plant, transporting the mixed naterial by tippers to paver and laying with paver finisher fitted with electronic ensor control to the required level and grade, compacting smooth wheeled roller 8 to tonne capacity and finishing to required level to achieve the desired density as er clause 511 of MoRT&H specification including all material, labour, machinery, ghting, guarding and maintenance of diversion but excluding and maintenance of diversion but excluding				

Total:	ن داران	- J. 18 18"		1998942,00
9 Providing and applying premixed seal coat Type "B" comprising of thin application of fine aggregate 0.06 cum/ 10 sqm premix with bitumen binder @ 6.8 Kg/ 10 Sqm (including cost of anti-stripping compound wherever required) laying with paver finisher with electronic sensor control and rolling with power roller 8-10 tonne complete as per clause 513 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion. With Bitumen VG-grade 30	2000.00		42.60	85000.0

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगे।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिग्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @\_\_\_\_

Last Date of Sale

Date of Receipt >

CR No. Dorled \_\_\_

S. No.	Particular's	Qty.	Unit	Rate	Amount
6	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				aliti (den esente fulli i i i i i i i i i i i i i i i i i i
1.1	Lime Concrete, cement concrete grade M-10 (1:5:10) and below (Sewer)	180	Cum	365	65700
1.2	Cement Concrete Grade M-15 and above and PCC blocks. ( Sewer)	180	Cum	620	111600
2	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil	174	cum	214.5	37323
3	Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	198	Cum	2775	549450
4	Providing and laying un-reinforced, dowel jointed, plain cement concrete mix With Concrete Mixer & vibrator pavement over aprepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, maximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid,spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints, joint filler, separation membrane, sealant primer, joint sealant, debonding strip, admixtures (if required) as approved, curing compound, finishing to lines and grades complete as per drawing and as per clause 602, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion. PCC M-20	198	Cum	5550	1098900

	The state of the s	-	-		
5	Carriage of excavated earth upto 5 km	334	Cum	245,95	131337.3
	TOTAL	مؤمد نیاست میداد. مراجع میداد در استان در استان میداد در استان میداد در استان میداد در استان میداد در استان می	-		1994310.30

- सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य रथल पर अमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4 कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगे।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

AN NO

NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @\_\_\_\_\_ Above/below the "G" Schedule.

Line Date in Sale

Date of Receipt :-

Copy issued to M/s

S. No.	Particular's	Qıy.	Unit	Rate	Amount
1	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				en vario estructura esperimento e una conse
1.1	Lime Concrete, cement concrete grade M-10 (1:5:10) and below (Sewer)	60	Cum	365	21900
1.2	Cement Concrete Grade M-15 and above and PCC blocks. ( Sewer)	60	Cum	620	37200
2	Dismantling of flexible pavements and disposal of dismantled materials up to a lead of 50 metres as directed by Engineer.Bituminous courses .	100.8	Cum	411	41428.8
2.1	Granular courses	216	cum	286.5	61884
3	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil	174	cum	214.5	37323
4	Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	198	Cum	2775	549450
5	Providing and laying un-reinforced, dowel jointed, plain cement concrete mix With Concrete Mixer & vibrator pavement over aprepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, maximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid,spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints, joint filler, separation membrane, sealant primer, joint sealant, debonding strip, admixtures (if required) as approved, curing compound, finishing to lines and grades complete as per drawing and as per clause 602, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion. PCC M-20	198	Cum	5550	1098900

各种技 245 99 Curriage of exenuited earth upto \$ km Curt 110110116 TUTAL 1777312.06

। रूपी प्रकार के कर (रेक्स) सरोवक द्वारा हो वहन किये सार्विये।

ह कार्य स्थल पर भविक व लागवी की सुला। की जिम्मेवारी शर्वेयक की होगी।

- अधीरवारणी थे क्षणित कामी वे अतिरिक्त व अधिक वार्म संविद्यक हाता दी गई देशे के खळार पर करवार्य जन संविद्ये ।
- त कार्य स्थाल घर कार्य संस्थित स्थानाः यशाँनै वाला बोर्ज संविदक को स्थान के स्वतं पर लगाना हीता।
- इ.टंबाम बुटी की शवस्था में सम्बन्धित रेट मान्य होगी।
- हरकण हुए। या स्वरंपक कार्य करने के पश्चात कार्य श्वात की फोटो / विहियोग्राकी सीडी आवश्यक रूप से कार्यात्म्य में अन्त कराने हीं है।
- र दोव निवारण अवधि निवमानुसार रहेगी ।
- ह दरें व माह तक मान्य रहेगी
- 9 संशतं निविदा स्वीकार नहीं होगी ।

L'We bereby agree to do the above work @\_ Above/below the "G" Schedule.

G-SCHEDULE

NIT NO	Date	

Sr No

Last Date of Sale

Earnest Money : Rs ..

Date of Receipt :-

th No. \_\_\_\_ bated \_\_

Copy Issued to M's

Name of Work- Restoration of road work at various Places in Ward No. 78 of nnjs

RUIDP SOR 2				1 2011	
S.No.	Rem	Oty.	Unit	Unit	Unit
1	Dismantling of flexible pavements and disposal of dismantled materials up to a lead of 50 metres as directed by Engineer Bituminous courses				
		35.00	Cum	411.00	14385.0
1.1	Granular courses	75.00	cum	286,50	21487,5
2	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil	600.00	Cum	214.50	128700.0
3	Carriage of Materials by mechanical transport including loading,unloading and stacking: 5 km	710.00	cum	245.95	174624.5
4	Providing, laying, spreading (with paver finisher only) and compacting wet mix macadam (VMMM) base course comprising of graded stone aggregate and granular material conforming to MORT&H specifications (Table 400-II) in layers of equal compacted thickness each consolidated, including pre-mixing the material with water at OMC in mechanical mixer (Pug MiII), carriage of mixed material by tippers to site, laying in uniform layers in base course on a well prepared sub-base/ base course and compacting with power vibratory-roller to achieve the desired density complete as per MoRT&H specification clause - 406 Including all material, labour, machinery, lighting, guarding and maintenance of diversion.				
		386.25	sqm	1704.00	658170.0
	Total:				997367.00

### Terms and Condition ;-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

### O-SCHEDULE

NIT No.	Date	Sr No.
Last Date of S	ale .	Earnest Money : Rs.
Date of Receip	ન ⊱	CR No. posterior Dated.
Copy issued to	M/s	

Basad an PLIEP bar 2015

Name of work:- Development work at park situated at rajendra nagar in ward no 79 of Nagar Nigam South, Jodhpur

S.No.	ttem .	City.	Unit	Rate in Re.	Amount
1	Earth work in excavation in foundation, trenches etc. Including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level.In all types solls/ saturated soll such as moonum, sand, sandy slit,clay, black cotton soll, kankar, etc. Depth upto 1.5 m	149.85	cum	210.50	31643.43
2	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level;				
	1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	23.50	cum	4340.00	101968.3
3	Random rubble masonry with hard stone in foundation and plinth :25.1.1 Cement mortar 1:6 (1 cement : 6 coarse sand)	106.93	CUM	4245.00	453917.85
4	Extra for random rubble masonry with hard stone in superstructure above plinth level and upto two stories.	85.50	cum	5135.00	439042.5
5	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm nominal size stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete.75mm thick	102.30	sqm	721.00	73758.3
6	Pointing on stone work with cement mortar 1:3 (1 cement : 3 fine sand) : Raised and cut pointing	450.00	sqm 1	380.00	171000
7	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:4 (1 cement: 4 fine/ coarse sand)	22.68	sqm	283.50	6429.78
8	Providing sand stone slab for roofing and laying them in cement mortar 1:4 (1 cement: 4 coarse sand) over wooden karries or R.C.C. battens (Karries and battens to be paid separately) including pointing the ceiling joints with cement mortar 1:3 (1 cement: 3 fine sand) complete::White sand stone slab: 40 to 50 mm thick	17.40		895.00	15573
9	Finishing walls with water proofing cement paint of required shadeew work (Two or more coats applied @ 3.84 kg/10 sqm).	450.00	sqm	85.40	38430
10	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.in gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	2000.00	kg	117.50	235000
11	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work	100.00	sqm	97.50	9750
12	Supplying, erecting and fixing in position specified precast RCC bench made of RCC grade M-30 consisting of 2 Nos. "L" shaped base support of thickness 100 mm back height 1000mm, front height 450 mm, base width 420mm and 5 Nos. RCC planks of size of 1500x100 x 50 mm and 1 Nos RCC planks of 150x200x50mm including joining all parts with galvanised nuts and bolts of suitable size. All bolts to be sealed after assembly with nice finish and appearance and level complete in all respect as per direction of engineer in charge. Every bench should have a manufacture's logo of appropriate size Engraved at suitable place.	6.00	nos	8500.00	51000
13	Supply and fixing different type of steel pre-fabricated garden bench/jhula/ slides and other children play items made of steel duly painted as per approved design and specifications by engineer in charge made of MS pipe, Flates, rectangular hollow section or other steel sections duly welded and or nut bolted where ever required, rubbing and buffing welded joints to make safe for use of children and painted in approved pattern complete as required.	300	kg	81.4	24420

-		Value of the last	A STATE OF THE PARTY OF THE PAR	A Company of the Company of	and the second second second second
18	Providing and fining angle from frame 25 k 25 s brinn for ventilitative fixed with 24 gauge equare mesh of 14 gauge stabilities steel with including 16 from square base at interval of 100 min welded to frame with metal beading of 20 s 3mm complete in all respect as per tectvicial specifications and drawings as per tectvicial specification and as per	0.41	g op 14	97 fm	##
15	Providing and fixing times thick M.S. sheet door with frame of 40x40x5mm angle fron and 3mm M.S. gussel plates at the junctions and comers, all recessary littings complete, including applying a priming cost of approved steel primer.	3 24	A THE SECOND STREET,	5095 00	11971 8
16	Providing and fixing T-iron frames for doors, windows and ventilizators of mild steel Tee-sections, joints milited and welded with 15x3 mm lugs 10cm long embedded in cement concrete blocks 15x10x10 cm of 1.3.6 (1 cement . 3 coarse sand . 6 graded stone aggregate 20 mm nominal size) or with wooden plugs and screws or with dash fastener or rawl plugs and screws or with fixing clips or with bolts and nuts as require including fixing of necessary butt hinges and screws and applying a priming coat of approved steel primer.	100 00	tg	88.40	<b>63-47</b>
17	Distempering with oil bound washable distemper of approved brandand manufacture to give an even shade New work (two or more coats) over and including priming coat withcement primer.	72.00	sgm	125 00	9000
18	Providing, lowering, taying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer. Note: E/w to be measured and paid separately. 110 mm dia	20.00	metre	300.50	6010
_	160 mm dia	10.00	metre	617.00	6170
19	Brick work with modular bricks of class designation 75 in foundation and plinth in: Cement Mortar 1:6 (1 cement : 6 coarse sand).	1.35	cum	4435.00	5987.25
20	Providing and fixing water closet squatting pan (Indian type W.C. pan ) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Onssa pattern W.C. pan of size 580x440mm with integral type foot rests.	2.00	each	4775.00	9550
	Providing and fixing white vitreous china flat back or wall comer type lipped front urinal basin of 430x260x350mm and 340x410x265mm sizes respectively with automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps complete, including painting of fittings and brackets, cutting and making good the walls and floors wherever required: One urinal basin with 5 litre white P.V.C. automatic flushing cistern.	2.00	each	4505.00	9010
22	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Angle back wash basin size 400x400 mm with single 15 mm C.P. brass pillar tap.	2.00	each	1988.00	3976
23	Kota stone slab flooring 25mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polishing complete with base of cement mortar 1:4 (1 cement: 4 coarse sand): Area of each slab 900 to 2000 sqcm	7.50	sqm	1299.00	9742.5
24	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings I/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer In Charge. Internal work - Exposed on wall				0
_	a) 15 mm nominal outer dia .Pipes.	30.00	Mtr	224.00	6720
25	b) 25 mm nominal outer dia .Pipes. Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing tee, including cutting and threading the pipe etc. complete: 25 to 40 mm nominal bore	1.00	Mtr Nos	347.00 572.00	572
	Providing and fixing gun metal gate valve with C.I. wheel of approved	1.00	Nos	551.00	551
27	quality (screwed end): 25 mm nominal bore Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	1000.00	Ltr	8.80	8800
	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 15 mm nominal bore.	5.00	Nos	473.50	2367.5
_					L

29	Providing and fixing C.P. brass long nose bib cock of approved quality conforming to IS standards and weighing not less than 810 gms. 15 mm nominal bore.	5.00	Nos	666.00	3330
30	Constructing brick masorry road gully chamber 50x45x60 cm with bricks of class designation 75 in cement mortar 1:4 (1 cement : 4 coarse sand) including 500x450 mm precast R.C.C. horizontal grating with frame complete as per standard design : With bricks		Nos	4385.00	4385
31	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete: 15 mm nominal bore	2.00	Nos	316.50	633
	Carriage of Materials by mechanical transport including loading, unloading and stacking :: Earth 5 km	149.85	CUM	245.95	36855.61
	Total				

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य सम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR

L'We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

### G-SCHEDULE

NIT No.	Date	Sr No.
Last Date of Sale	÷	Earnest Money : Rs.
Date of Receipt		CR No Dated

Based on RUIDP bar 2022

Name of work:- Development work at park situated at ward no 79 of Nagar Nigam South, Jodhpur

Copy issued to M/s .....

KH NO 163

in

S.No	Item	Qty.	Unit	Rate in	Amount
1	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level.In all types soils/ saturated soil such as moorum, sand, sandy silt,clay, black cotton soil, kankar, etc.Depth upto 1.5 m		cum	210.50	17903.025
2	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301.In all type of soil	i	cum	214.50	5791.5
3	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level:				
	1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	26.20	cum	4340.00	113686.3
4	Random rubble masonry with hard stone in foundation and plinth :25.1.1 Cement mortar 1:6 (1 cement : 6 coarse sand)	56.98	СИМ	4245.00	241880.1
5	Extra for random rubble masonry with hard stone in superstructure above plinth level and upto two stories.	39.90	cum	5135.00	204886.5
6	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm nominal size stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete.75mm thick	66.30	sqm	721.00	47802.3
	Pointing on stone work with cement mortar 1:3 (1 cement : 3 fine sand) : Raised and cut pointing	210.00	sqm	380.00	79800
8	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:4 (1 cement: 4 fine/ coarse sand)	22.68	sqm	283.50	6429.78
9	Providing sand stone slab for roofing and laying them in cement mortar 1 4 (1 cement : 4 coarse sand) over wooden karries or R.C.C. battens (Karries and battens to be paid separately) including pointing the ceiling oints with cement mortar 1:3 (1 cement : 3 fine sand ) complete :White sand stone slab :40 to 50 mm thick	17.40	sqm	895.00	15573
	Finishing walls with water proofing cement paint of required shadeew work (Two or more coats applied @ 3.84 kg/10 sqm).	210.00	sqm	85.40	17934
11	Steel work welded in built up sections/ framed work including cutting, noisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard par, ladder, railings, brackets, gates and similar works.	1000.00	kg	117.50	117500
	Painting with synthetic enamel paint of approved brand and manufacture ogive an even shade: Two or more coats on new work	100.00	sqm	97.50	9750
13 F	Providing and fixing of 60mm thick precast cement concrete interlocking paver block casted with rubber moulds in approved reflective colour and lesign having minimun compressive strength of300 kg/ sq cm. The CC avaing blocks be laid on average 50mm thick bed of coarse sand and the point is to be filled with fine sand. Laying procedure on compacted subsease as defined. Complete job is to be executed as per the instruction of Engineer incharge. Therates to be inclusive of all lead & Lifts etc. complete as perspecifications.	105.00	sqm	737.00	77385

14	Providing and fixing precast cement concrete M-20 grade (Using mechanical Concrete Mixer) kerb stone top and bottom width 115 and 165 mm respectively, 250 mm high on 150 mm thick PCC M-10 grade foundation as per design, including fixing at site as per clause 408 of MoRT&H Specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	140.00	metre	312,50	43750
15	Supplying, erecting and fixing in position specified precast RCC bench made of RCC grade M-30 consisting of 2 Nos. "L" shaped base support of thickness 100 mm back height 1000mm, front height 450 mm, base width 420mm and 5 Nos. RCC planks of size of 1500x100 x 50 mm and 1 Nos RCC planks of 150x200x50mm including joining all parts with galvanised nuts and bolts of suitable size. All bolts to be sealed after assembly with nice finish and appearance and level complete in all respect as per direction of engineer in charge. Every bench should have a manufacture's logo of appropriate size Engraved at suitable place.		nos	8500.00	51000
16	Supply and fixing different type of steel pre-fabricated garden bench/jhula/ slides and other children play items made of steel duly painted as per approved design and specifications by engineer in charge made of MS pipe, Flates, rectangular hollow section or other steel sections duly welded and or nut bolted where ever required, rubbing and buffing welded joints to make safe for use of children and painted in approved pattern complete as required.	300	kg	81.4	24420
17	Providing and fixing angle iron frame 25 x 25 x 3mm for ventilators fixed with 24 gauge square mesh of 14 gauge stainless steel wire including 10 mm square bars at interval of 100 mm welded to frame with metal beading of 20 x 3mm complete in all respect as per technical specifications and drawings as per technical specification and as per direction of Engineer.	0.41	sqm	92.50	37.925
18	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and comers, all necessary fittings complete, including applying a priming coat of approved steel primer.	3.24	sqm	3695.00	11971.8
19	Providing and fixing T-iron frames for doors, windows and ventilators of mild steel Tee-sections, joints mitred and welded with 15x3 mm lugs 10cm long embedded in cement concrete blocks 15x10x10 cm of 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size) or with wooden plugs and screws or with dash fastener or rawl plugs and screws or with fixing clips or with bolts and nuts as require including fixing of necessary butt hinges and screws and applying a priming coat of approved steel primer.	100.00	kg	88.40	8840
20	Distempering with oil bound washable distemper of approved brandand manufacture to give an even shade New work (two or more coats) over and including priming coat withcement primer.	72.00	sqm	125.00	9000
21	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer. Note: E/w to be measured and paid separately. 110 mm dia	20.00	metre	300.00	6000
6-	160 mm dia	10.00	metre	617.00	6170
22	Brick work with modular bricks of class designation 75 in foundation and plinth in: Cement Mortar 1:6 (1 cement : 6 coarse sand).	1.35	cum	4435.00	5987.25
23	Providing and fixing water closet squatting pan (Indian type W.C. pan ) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests.	2.00	each	4775.00	9550
24	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and 340x410x265mm sizes respectively with automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps complete, including painting of fittings and brackets, cutting and making good the walls and floors wherever required: One urinal basin with 5 litre white P.V.C. automatic flushing cistern.	2.00	each	4505.00	9010

25	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar tape, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Angle back wash basin size 400x400 mm with single 15 mm C.P. brass pillar tap.	2.00	each	1988.00	3976
26	Kota stone slab flooring 25mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the stab including nubbing and polishing complete with base of cement mortar 1 4 (1 cement 4 coarse sand). Area of each slab 900 to 2000 sqcm	7.50	sqm	1299 00	9742.5
27	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. Internal work - Exposed on wall.				0
9	a) 15 mm nominal outer dia .Pipes.	30.00	Mtr	224.00	6720
Ь	b) 25 mm nominal outer dia .Pipes.	30.00	Mtr	347.00	10410
28	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing tee, including cutting and threading the pipe etc. complete: 25 to 40 mm nominal bore	1.00	Nos	572.00	572
29	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end): 25 mm nominal bore	1.00	Nos	551.00	551
30	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	1000.00	Ltr	8.80	8800
31	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 15 mm nominal bore.	5.00	Nos	473.50	2367.5
32	Providing and fixing C.P. brass long nose bib cock of approved quality conforming to IS standards and weighing not less than 810 gms. 15 mm nominal bore.	5.00	Nos	666.00	3330
33	Constructing brick masonry road gully chamber 50x45x60 cm with bricks of class designation 75 in cement mortar 1:4 (1 cement : 4 coarse sand) including 500x450 mm precast R.C.C. horizontal grating with frame complete as per standard design : With bricks	1.00	Nos	4385.00	4385
35	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete: 15 mm nominal bore	2.00	Nos	316.50	633
	Carriage of Materials by mechanical transport including loading, unloading and stacking :: Earth 5 km	112.05	СИМ	245.95	27558.6975
	Total				1221104.18

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR.

prille

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

G-SCHEDULE

NIT No.

Date

šr No.

Last Date of Sale

Earnest Money : Rs.

Date of Receipt :-

CR No. ..... Dated.

	Copy issued to M/s	RU	IDP S	OR 202	2	
Name of Work- Construction of CC road work at various Places in Ward No. 80 of nnjs						
S. No.	Particular's	Qty.	Unit	Rate	Amount	
1	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				en e	
1.1	Lime Concrete, cement concrete grade M-10 (1:5:10) and below (Sewer)	87	Cum	365	31755	
1.2	Cement Concrete Grade M-15 and above and PCC blocks. (Sewer)	87	Cum	620	53940	
2	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil	99	cum	214.5	21235.5	
3	Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	99	Cum	2775	274725	
4	Providing and laying un-reinforced, dowel jointed, plain cement concrete mix With Concrete Mixer & vibrator pavement over aprepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, maximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid,spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints, joint filler, separation membrane, sealant primer, joint sealant, debonding strip, admixtures (if required) as approved, curing compound, finishing to lines and grades complete as per drawing and as per clause 602, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion. PCC M-20	99	Cum	5550	549450	

5	Carriage of excavated earth upto 5 km	273	Cum	245.95	67144.35	
	TOTAL	Marie Co			998249.85	

- 1. समी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य रथल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- छ. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- दोष निवारण अविध नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

1111

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

### OFFICE OF THE MUNICIPAL CORPORATION, JODISTUR (SOUTH) 0-SCHEDULE

Law Date of Sale

Femal Haway to

Date of December to

ed for below

Copy beared to Mile

### Name of work- cc road repair near nata from chunaram ji choudhary house to rto office in ward no 77 mile

S.No.		B.No.	Unit	Rate In Re.	Amount
1	Dismantling of existing structures like culverts, bridges, retaining walfs, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer Lime Concrete, cement concrete grade M-10 (1.5.10) and below	45 00	CUM	366 00	16425.00
2	Cement Concrete Grade M-15 and above and PCC blocks	45.00	cum	620.00	27900.00
3	Dismantling Stone Masonry Rubble stone masonry in cement mortar.	5.00	cum	357.50	1787.50
4	Silt clearance of drains, channels and canals with lift 1.5 Mtr and lead up to 50 Mtr.	50 00	cum	348.50	17425.00
5	Random rubble masonry with hard stone in foundation and plinth : Cement mortar 1:6 (1 cement : 6 coarse sand)	5.00	cum	4245.00	21225.00
6	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:4 (1 cement: 4 fine/ coarse sand)	20.00	sqm	283 50	6670.00
7	Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manually, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	45.00	cum	2775.00	124875.00
8	Providing and laying un-reinforced, plain cement concrete mix with Concrete Mixer & vibrator pavement over a prepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, maximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid, spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints etc including all material, labour, machinery, lighting, guarding and maintenance of diversion. PCC M-20	45.00	sqm	5420.00	243900.00
9	Carriage of Materials by mechanical transport including loading, unloading and stacking ::Earth. Upto 5 km	145.00	Cum	245.95	35662.75
	Total				494870.25

- Terms and Condition :
  1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- ठंकण तुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER NAGAR NIGAM SOUTH JODHPUR.

Jul

I/We hereby agree to do the above work @ \_\_\_\_ \_\_ Above/below the "G" Schedule.